RNA:

 AGAGAGAGAGAGAGAGAGAGAGAGAGAGAG...

Peptide Sequences:

 ...Arg-Glu-Arg-Glu-Arg-Glu-Arg-Glu-Arg...

RNA:

 AUAUAUAUAUAUAUAUAUAUAUAUAUAUAU...

Peptide Sequences:

 ...Tyr-Ile-Tyr-Ile-Tyr-Ile-Tyr-Ile-Tyr...

RNA:

 ACACACACACACACACACACACACACACAC...

Peptide Sequences:

 ...Thr-His-Thr-His-Thr-His-Thr-His-Thr...

1.Because having each nucleotide code for only one

 amino acid would allow for only four different

 amino acids to be incorporated into a protein,

 it was obvious to researchers that there had to be

 a conversion between multiple bases and each

 amino acid. Would two nucleotides at a time be

 sufficient to provide enough codons to code for

 all 20 amino acids? Why or why not? How many

 amino acids could be coded for by codons

 containing only two nucleotides? Will three

 nucleotides per codon work? Why or why not? 

Explain your answers. 

To answer these questions using TranslationLab, 

click the Start Experiment button on the input

 screen of TranslationLab. For each of the four 

bottles of ribonucleotides that appear, click on the

 arrow to select a nucleotide. Do this for two

 nucleotides initially. Click the Make RNA button

 to display the sequence of mRNA that you created

. Click Add to Notes to create a record of your 

experiment. To translate this sequence into amino 

acids, click on the To Translation Mix button. 

Click Add to Notes to add the amino acid 

sequence to your notebook. Continue this process 

until you are able to answer the questions above.

